o
[N

< o cot(y) >

..................................

<0 @> (rad)
o
o [
[ [¢)]

.................................

o : o :
- SR Al ¢ = E
e SRRt EIIR e Nt USSR 1 | N S
| SR S S | O R P . :
01 > -1 0 T 2 3 0953 =1 0 12 3

TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_CKF_TTbase

—— DQM_mkFit_TTbhase

100

< 00, > (M)
<0d,> (um)
()] (o)
PP

...............

PSSR S 1 W R (N e

U T | O T 1

Ratio

...............................

=3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

g : 5 : 5

A u : : : :

- 4__' TTTTTCT " N H

2 u : : : :

i L

o Bpieqi : ;

v r : : :
oo I { R
1 S
: 1) O
O -eeevbenes 5 O 1111 | O T
| eeRRRTTE I N -------- CRPRPRRS

o I - | L |

=B %] SRR EEERILEE SEREEE | ¥ 1--

o E
e L e 4

IR | §
: 0 1 2 3
TP n (PCA to beamline)

L
I[.
N
|
A



	Contents
	Page 1


